                             A  L  G  E  B  R  A
1. Faktorizirajte  polinom

                                                              X4+ Y4+ Z4- 2X2Y2-2Y2Z2-2Z2X2
                         nad  poljem reanih brojeva  R .

2. Racionalizirajte izraz

                                                               (a3+ a2+ a + 1)-1
                          ako je a korijen polinoma

                                                                X3+ 2 X2+ 3X + 4 . 

3. Odredite broj elemenata reda  6  u grupi  S5 .

                   4.   Odredite grupu  aut(S3) .

